#### Resolution No. 2020-15

### SCHWENKSVILLE BOROUGH, MONTGOMERY COUNTY, PENNSYLVANIA

## A RESOLUTION AUTHORIZING THE SUBMISSION OF A GRANT APPLICATION FOR THE 2020 ROUND OF THE COUNTY TRANSPORTATION PROGRAM

Whereas, Montgomery County has established the County Transportation Program as a competitive funding program to assist municipalities with improving transportation infrastructure throughout the county; and

Whereas, the County is accepting grant applications to fund transportation projects that meet the eligibility requirements for County Fee for Local Use funds, including construction and repair of public roads and bridges, acquisition and maintenance of traffic signs and signals, lane and crosswalk painting and marking, and curb ramps; and

Whereas, Schwenksville Borough has a small tax base which makes taking on larger projects difficult to fund; and

Whereas, Schwenksville Borough receives approximately \$36,000 annually to help offset the cost of winter and surface road maintenance, traffic signal and streetlight maintenance throughout the entire borough and not just one project: and

Whereas, grant programs such the Montgomery County Transportation Program allow the Borough to maximize its resources; and

Whereas, Summit Avenue is in need of significant reconstruction and has been consuming the Borough's temporary maintenance funds on an annual basis; and

Whereas, Schwenksville Borough intends to apply for a CFA Multi Modal Transportation grant to fund sidewalks and additional road improvements beyond Woodland Avenue; and

Whereas, Schwenksville Borough wishes to obtain \$157,858.00 from the 2020 County Transportation Program to match the local funding commitment for the "Summit Avenue, Road, Sidewalk and Stormwater Improvements" project for Road and Stormwater Improvements [sidewalks to be funded independently] to Summit Avenue between Woodland Avenue and the Lower Frederick Township Line; and

**Whereas,** Schwenksville Borough is willing to pledge the required local match with or without assistance from other grant programs:

**NOW THEREFORE BE IT RESOLVED** that Schwenksville Borough Council Authorizes the Borough Manager to make application to Montgomery County for \$157,858.00 of County Transportation Program funding and commits to satisfying the 20% local match.

RESOLVED THIS 13<sup>TH</sup> DAY OF AUGUST, 2020 BY:

SCHWENKSVILLE BOROUGH COUNCIL
Darren W. Rash, Council President
Joseph Giunta, Mayor

# SCHWENKSVILLE BOROUGH MONTGOMERY COUNTY, PENNSYLVANIA RESOLUTION No. 2020-16

A RESOLUTION AMENDING RESOLUTION NO. 2020-12, RE-AUTHORIZING APPLICATION TO THE DEPARTMENT OF COMMUNITY AND ECONOMIC DEVELOPMENT AND THE COMMONWEALTH FINANCING AUTHORITY FOR A MULTIMODAL TRANSPORTATION IMPROVEMENT GRANT FOR SUMMIT AVENUE ROAD, STORWATER AND PEDESTRIAN IMPROVEMENTS.

WHEREAS, Schwenksville Borough Council adopted Resolution No. 2020-12 at it's June Regular Meeting authorizing application to the Department of Community and Economic Development and the Commonwealth Financing Authority for a Multimodal Transportation Improvement Grant for Summit Avenue with an estimated total project cost of \$697,546; and

WHEREAS, SCHWENKSVILLE BOROUGH has since fine tuned its Estimate of Cost for the project and has applied to Montgomery County for matching grant dollars;

**BE IT RESOLVED**, that Schwenksville Borough of Montgomery County hereby requests a Multi-modal Transportation grant in the amount of \$526,898.00 from the Commonwealth Financing Authority to be used to repair the stormwater system, add stormwater infrastructure, add pedestrian improvements and reconstruct Summit Avenue with a total estimated project cost of \$752, 711.40;

Summit Avenue Road, Sidewalk & Stormwater Improvements	CFA Multi- Modal	County	Borough Contribution	Total Project Cost
Highland Avenue to the LFT Line	\$526,898	\$157,858.00	- \$67,955	\$752,711

**BE IT FURTHER RESOLVED**, that Schwenksville Borough will satisfy the 30% matching requirement with a combination of Borough Funds and matching grant dollars from Montgomery County;

**BE IT FURTHER RESOLVED**, that the Applicant does hereby designate Anne W. Klepfer, Borough Manager and Darren W. Rash, Council President as the officials to execute all documents and agreements between Schwenksville Borough and the Commonwealth Financing Authority to facilitate and assist in obtaining the requested grant.

Schwenksville Borough
DCED Single Application – Summit Avenue Improvements
Page 2

l, Gail Phillips, duly qualified Secretary of Schwenksville Borough, Montgomery County, PA hereby certify that the forgoing is a true and correct copy of a Resolution duly adopted by a majority vote of the Borough Council (Governing Body) at a regular meeting held August 13, 2020 and said Resolution has been recorded in the Minutes of Schwenksville Borough and remains in effect as of this date.

IN WITNESS THEREOF, I affix my hand and attach the seal of Schwenksville Borough this 13, day of August, 2020.

SCHWENKSVILLE BOROUGH
Name of the applicant
MONTGOMERY COUNTY
County
Gail Philips, Secretary



## Summit Avenue Road Improvements Project from Highland Avenue to Northern End

Opinion of Probable Cost - 07/30/20

<u>Item</u>	Quantity	<u>Unit</u>	Unit Price	Total
Mobilization / Demobilization	1	LS	\$12,000.00	\$12,000.00
Mill and Overlay Existing Roadway	3506	SY	\$18.00	\$63,108.00
Base Repair / Leveling Course	605	SY	\$40.00	\$24,200.00
4" 2A Stone	1044	SY	\$4.00	\$4,176.00
3" Base course	1044	SY	\$21.00	\$21,924.00
2" Binder Course	1044	SY	\$15.00	\$15,660.00
2" Wearing Course	1044	SY	\$13.00	\$13,572.00
4" Class AA Concrete Sidewalk on 4" AASHTO #57 Stone	5300	SF	\$28.00	\$148,400.00
Class AA Concrete Curb	1265	LF	\$80.00	\$101,200.00
Detectable Warning Strips	2	EA	\$500.00	\$1,000.00
Inlet Top (Replace)	9	EA	\$2,000.00	\$18,000.00
Inlets (Box & Top)	8	EA	\$4,000.00	\$32,000.00
18" HDPE Storm Pipe w/ Pipe Removal & Trench Restoration	925	LF	\$110.00	\$101,750.00
Connect to Existing Inlet	3	EA	\$1,500.00	\$4,500.00
Erosion & Sediment Controls	1	LS	\$10,000.00	\$10,000.00
ADA Compliant Ramp	2	LS	\$2,000.00	\$4,000.00
ADA DetectableWarning Surface	2	EA	\$350.00	\$700.00
Project Restoration (Seeding, Mulching, Etc.)	1	LS	\$10,000.00	\$10,000.00
Relocate mailboxes out of cartway	6	EA	\$350.00	\$2,100.00
Relocate Existing Signage	5	EA	\$150.00	\$750.00
Relocate water valves out of cartway	1	EA	\$1,500.00	\$1,500.00
Adjust Sanitary Manhole Rim	3	EA	\$450.00	\$1,350.00
Adjust water valve	1	EA	\$500.00	\$500.00
Line Striping	1	LS	\$5,000.00	\$5,000.00

Subtotal \$597,390.00

Contingency (5%): \$ 29,869.50

Total: \$627,259.50

Eligible Engineering (10%): \$62,725.95

Eligible Administration Costs(2%) : \$12,545.19

\$702,530.64

Total:

Borough Inspection Costs (8%): \$50,180.76

Project Total: \$752,711.40